Efficiency vs P,

= 0.4
o

2 0.09
>

20.08
o

0.07
0.06
0.05
0.04
0.03
0.02
0.01

e

1.0

Ratio

1

o
©
al

=
o@
N

1 10 . Gedf’

—=— DQM_mkFit_TT_baseline_6iter

—— DQM_mkFit_TT_RetrainV2_WP1_6iter

= 0.2

P S R S .
gl

LC) r
$0.16F
(8] L
£0.14F
(]
0.12F
0.1
0.08F
0.06F
0.04F
0.02
1.0

Ratio

T
;
:
H
+
.
g

0.95f------ B E R - B -

[T
R
|L
-
N
w

Efficiency vs ¢

o 0.1-
® :
>‘0.09 ;
2 ]
$0.08 :
o .
£0.07E
o :

©
¢ o
N
AR

o OI ] | ] ]
= 1 -
o :
092: ] . +[ +: b
1l -+ 5 - -
0. : +
3 -2 -1 0 1 2 3

0.8k



	Contents
	Page 1


